
qm=;+= ljj/0f ljlgof]lht /sd s}kmLot

ljw't tk{m

1 s]Gb|Lo ljB't nfOg la:tf/ 1,000,000.00  

;8s tk{m

1 km]bL u}/f vfnfafË df]=af= lgdf{0f 100,000.00    

2 afOrf}/ ;j/f j8f sfof{no ejg ;Dd df]=af= lgdf{0f 300,000.00    

3 afOrf}/–8fF8fufp x'Fb} uf}d'vL df]=af= lgdf{0f 100,000.00    

4 ;j/f b]vL xfFl8 le/ x'b} # g+= j8f sfof{no hf]8\g] df]=af= lgdf{0f 200,000.00   

5 7'nfrf}/–n'lhafË n]vkf]v/f x'b} /hj/f emfFlqmyfg hf]8\g] df]=af= lgdf{0f 200,000.00   

6 7'nfrf}/–lsgfd hf]8\g] df]=af= lgdf{0f 100,000.00    

lzIff tk{m

1 ;okqL afnljsf;df ! sf]7f e'FO{ 9nfg 30,000.00    

2 afO;d'n k|f=lj= % sf]7f e'FO{ 9nfg 125,000.00    

vfg]kfgL

1 uf}d'vL b]vL 7'nfrf}/ ef]afª vf=kf=lgdf{0f 450,000.00   

2 emflqmkfgL j'/nsfF8] vf=kf=,6\ofËL dd{t tyf kfOk v/Lb 50,000.00    

3 h'/9'Ëf vf=kf=,6\ofËL dd{t tyf kfOk v/Lb 50,000.00    

4 x]kf] vf=kf=,6\ofËL dd{t tyf kfOk v/Lb 50,000.00    

5 ltd/af]6 vf=kf=,6\ofËL dd{t tyf kfOk v/Lb 150,000.00    

6 5/5/] vf=kf= lgdf{0f 150,000.00    

7 h]Qfvf]nf vf=kf=,6\ofËL dd{t tyf kfOk v/Lb 50,000.00    

8 t]nvf]nf vf=kf= lgdf{0f 50,000.00    

9 l6Kkfvf]nf–t]n–hfnyfQf vf=kf= lgdf{0f 50,000.00    

10 v'k]{; vf=kf=,6\ofËL lgdf{0f 50,000.00    

l;+rfO{ tk{m

1 9'ª9'ªvf]nf l;+rfO{ of]hgf lg/Gt/tf 100,000.00    

2 ;j/f l;+rfO of]hgf lg/Gt/tf 100,000.00    

uf}d'vL ufpFkflnsf 

ufFp sfo{kflnsf] sfof{no

cf=j= )&%÷&^ sf] k|:tfljt of]hgf

j8f g+= @ -cvf{_
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ef}lts k'j{fwf/

1 cfdf ;d'xsf] j}7s ejg lgdf{0f 200,000.00   

2 cvf{ df=lj= vf=kf= Joj:yfkg, 6\ofËL dd{t tyf kfOk v/Lb 50,000.00    

3 uf}d'vL ;fd'bflos l;sfO{ s]Gb| k':ts vl/b 30,000.00    

nlIft ju{

1 dlxnf–l:j6/ a'gfO{ tflnd 63,000.00     

2 hghftL–xfp; jfOl/ª tflnd 63,000.00     

3 afnaflnsf–

s_ ;8s gf6s -s'nt tyf b'Jo]{;gL_ 34,000.00    

v_ ls;f]/L dlxgfjf/L Joj:yfkg -;]g]6/L Kof8 vl/b_ 30,000.00    

u_ j8f :t/Lo afn ;+~hfnsf] nfuL v]n ;fdfu|L v/Lb 20,000.00    

4 blnt–

xfp;jfOl/ª tflnd 63,000.00     

5 h]i7 gfu/Ls tyf ckfË–

j8f sfof{no k|ltIffno lgdf{0f 126,000.00    

ko{6g

1 uf}d'vL dGbL/df e"MIfo lgoGq0f tyf kb dfu{{ dd{t 800,000.00   

e'MIfo tyf gbL lgoGq0f

1 uf}d'vL k|f=lj=, 7"nfrf}/df klx/f] lgoGq0f 300,000.00    

2 ;okqL afn ljsfz e"MIfo lgoGq0f 100,000.00    

uf}d'vL k|f=lj= jfnd}qL lzIf0f ;fdu|L v/Lb 21,000.00     
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